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Unit 2 Review

What you must know how to do for the exam:

Lxadl

Period:

e Find the domain, range, intercepts, maximum, |e Evaluate a function a given value of x or y.
minimum, end behavior, asymptote, axis of e Add, subtract, multiply and divide functions.
symmetry of any function. ¢ Perform a composition of functions.

¢ Calculate the average rate of change on any e Find the inverse of a function.
interval. ¢ Multiply complex numbers. (Unit 1)

« Identify the parent function given the graph. e Solve an equation. (Unit 1)

e Find the square root of a negative number. » Simplify a radical or exponential expression.
(Unit 1) (Unit 1)

Directions: Work the problems out in the space provided. Be sure to understand how to do every
problem in this packet and make notes on your review sheet for things to remember.

For Questions 1-3, find the characteristics requested of the graphs below:
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a) Domain: (" xQ, OO)

b) Axis of symm: X': = |
-

¢) Maximum value:

d) End Behavior:
AS X 00— —09

As X o0 N —27C0

a) Range: (';Ll', OO)

b) Asymptote: N T H

c) x-intercept: (z,0)

d) y-intercept: {o,=3)

e) Average Rate of Change on
the interval [1, 3]

a) Range: E“ 3100)
X=722

b) Axis of symm:
¢) x-intercept: &iLo) § (5.,6)

d) Minimum value: -

e) End Behavior:

Xy Xy As X2 —00 - 0O
e) Average Rate of Change on the Pont | Point 2 o
interval [;3, 0] (,-2)  (3,4) As x> Co,Ny—> Co
Point 1. Point 2 42D b _
("3,"1) (0)2-) m”‘fé—_’r)"i"*g
= ?.—é-‘l)\z —%_ =
u-C2) o
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4. Fill in the table with the transformations for each parameter, a, h, or k:

a h k
ais negative: € €(€ct x+h:_Shift left +k_shhft cp
oVer x-axis *£p” |x-h Shitt right kel dovmn

la] > 1: Vertical Sty etch

la| < 1Vertical shrink
For Questions 5-8, describe the transformations that map the parent function, f(x), to the transformed
function, g(x). 1

as_s a==z 7 ,
5  Fe€lect over 6. Vermear shank of &|
f(2) =+/x Y ~AXNS i) = 2*
g(x) = =3vx - ‘\LerHcalQTrefthOGB ( =1 3_9p k=-2

i g x) X Jind ;
] — héﬁ waght 5 { 4 |* Shif+ dowwn ﬂ
*sShi n
7. \C) — - 8.
[ Y - 1] I | B ] [ TN ) T (e ) i | 0 =
]\ / srefiect | Nl e teetr
‘ ) / over x-axits f f "__" T A-Units
’ ehict =
1 e TP
sas o e i e o o - VA | S e R SR
A (N 1 = —— I L 34—
|, i
, INNERN
a(x) 4 I

L \ > .
For Questions 9-10, give the name of the parent function graphed below.
9. _Square root funchonm 10. __ expon eHal funchon

(-2, 5)
4
2

<
T
10 8 £ £ 2 2.4 | 68
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For Questions 11-18, find the operations indicated. Simplify all expressions. Use the following functions:

f(X) =-x+2 g(x) = 5x* h(x) = g p(x) = x? + 4x
11. (g + p)(x) 12. p(x) = f(x) 13. (9-h)(x) 1. (L) $ox)
GO + P % 4x) = (- x4+ 2) gy « h(x) % 9 (=)
DX+ X +ux (3 iax +x -2 Sx’»% X+ 2
\Lax"i-urxi \’)ZT-r BN ~2 ) YoX* OX 5 x*
- =
15. (f —h)(2) 16. g(-1)-f(=1) |, 2 18. g(3) +p(3) 9(2)
F2) - h(2) 5-3 [9¢0 | O 4s+ 2| |:S
O-4 f(2) |1 Z5-p? =N
e ey | L B L W =
- -5 £(-1) =
a(2) = ={-1)¥2 :{L’_j
= .?_)L =4 = 3
For Questions 19-22, find the compositions indicated. Use the following functions:
flx)==2x" glx)=x+5 h(x) = Vx
19. 9(f(x)) = 20. gh(®) M (a)=q
g(-2x%) =|-2x"+5 =
g@)=2+5

3]

21. (feg)(x)
‘F(g(x)) = f(x+5) a
= -2 (x+S)
= = 2 ( XT4+5X+5X425)

— 2 (x> +IOX+ 25)

=[-2 x> -20x-50 |

22. (heg)(20) SCJ_D)_: 2015
h(g(r0)) =25
(23 =J2s

—
-_—

For Questions 23-26, find the inverse of the function given below.
. 3
Y=lbx -l V= x5
—l'>l( = b\l ‘1-—1I ._3
1 2. Kz + .
X z 1= by 3 ‘135 3
(S
i x| 3 %= v +5
i . -4 -5
& Xt = -8
e ekl P
tF"(x) =ZR~5 l Page 3
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25. f(x)=-1—6—-3 26. f(x)=7+x: ]
_ . o e N="1+X
Xz~ i P S
vz NVl 4 ’('_7_""3_:_
X+3 = - e =
b g = %=
\’“"(O T E:
S e N PN B B GO
! {’_'603)"(:};"(0} -
V= el

Questions 27-31 are Unit 1 Review questions. -

27. Multiply (5 - 2i)(-3 +1) 28. Solve for x: 9 = 3x = 2(4 + 5X)
A 4-3u g o0
=S +5(+ b —2(-1) |I-3%= -lOX
S 4S5tk t+a b3x .+ 3x
[—12+u | =2

U 1 — Jc

i e

29. Simplify. (2x2y)3 30. Simplify. V=32

ol ﬂ .
[8x“y” | 2T e

31. Simplify. /24xy*

B3I X
o b

A‘—

s P /N ?
For Questions 32-33, use the function, f(x) = 5x+9
32. Find f(—4) 33, Find the value of x when f(x) = 36.
AN = sl 2 =5xt4
£L-4) 551)%—"\ L e
e ~JD
= o = 5%
Fco=-10) = 3
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